Maytag MFS8OPNFVS 04 - TUB

S " "
7

Maytag Commercial Maytag MES80PNFVS Washer Parts Parts Diagram 04 - TUB
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
002 23002412 Tub 100LB
" 23002413 Tub 125LB
" 23003188 Tub 80Lb
003 23002414 Weight
004 23002415 Weight
005 23002416 Limiter
006 23002417 Holder
007 23003934 Hose, Rubber
008 23002418 Holder, Wire
009 23002280 Nut M6
010 23002461 Screw
011 23002475 23001264 Bolt M8x20
012 23002476 Screw
013 23003935 Nut M20
014 23003778 23002756 Lockwasher

015 23002424 Washer M6.4


http://www.pwslaundry.com/c-299405-commercial-maytag-mfs80pnfvs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7798432-maytag-23002412-washer-tub-100lb.html
http://www.pwslaundry.com/i-7798433-maytag-23002413-washer-tub-125lb.html
http://www.pwslaundry.com/i-7798882-maytag-23003188-washer-tub-80lb.html
http://www.pwslaundry.com/i-7798434-maytag-23002414-washer-weight.html
http://www.pwslaundry.com/i-7798435-maytag-23002415-washer-weight.html
http://www.pwslaundry.com/i-7798436-maytag-23002416-washer-limiter.html
http://www.pwslaundry.com/i-7798437-maytag-23002417-washer-holder.html
http://www.pwslaundry.com/i-7799380-maytag-23003934-washer-hose-rubber.html
http://www.pwslaundry.com/i-7798438-maytag-23002418-washer-holder-wire.html
http://www.pwslaundry.com/i-7798351-maytag-23002280-washer-nut-m6.html
http://www.pwslaundry.com/i-7798466-maytag-23002461-washer-screw.html
http://www.pwslaundry.com/i-7797822-maytag-23001264-washer-bolt-m8x20.html
http://www.pwslaundry.com/i-7798472-maytag-23002476-washer-screw.html
http://www.pwslaundry.com/i-7799381-maytag-23003935-washer-nut-m20.html
http://www.pwslaundry.com/i-7798606-maytag-23002756-washer-lockwasher.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html

016 23002440 Washer, Spring Lock

018 23002439 23001265 Washer

020 23001256 34001289 Clamp, Hose

022 23002480 Plug

024 23002179 Washer Nut M14

026 23002473 Rubber, Protective

" 23002482 W10399309 Heater

029 23002505 Plate, Earth

031 23002422 23001157 Bolt

034 NLA Not Available CLIP

036 23002486 Bolt

038 23002487 23001266 Nut M8


http://www.pwslaundry.com/i-7798451-maytag-23002440-washer-washer-spring-lock.html
http://www.pwslaundry.com/i-7797746-maytag-23001158-washer-lockwasher.html
http://www.pwslaundry.com/i-7797823-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-7798474-maytag-23002478-washer-washer.html
http://www.pwslaundry.com/i-7801854-maytag-34001289-washer-clamp-hose.html
http://www.pwslaundry.com/i-7798475-maytag-23002479-washer-rubber-grommet.html
http://www.pwslaundry.com/i-7798476-maytag-23002480-washer-plug.html
http://www.pwslaundry.com/i-7799266-maytag-23003807-washer-temperature-sensor-holder.html
http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7799406-maytag-23003964-washer-sensor-temperature.html
http://www.pwslaundry.com/i-7798470-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-7798285-maytag-23002191-washer-element-heating-80lb.html
http://www.pwslaundry.com/i-7798478-maytag-23002482-washer-element-heat-100-125lb.html
http://www.pwslaundry.com/i-10763586-maytag-w10399309-washer-heater.html
http://www.pwslaundry.com/i-7797996-maytag-23001594-washer-heating-element-hole-plug.html
http://www.pwslaundry.com/i-7798493-maytag-23002505-washer-plate-earth.html
http://www.pwslaundry.com/i-7799382-maytag-23003936-washer-tub-facia-panel.html
http://www.pwslaundry.com/i-7797745-maytag-23001157-washer-bolt.html
http://www.pwslaundry.com/i-7798352-maytag-23002281-washer-washer-m6-4x12x1-6.html
http://www.pwslaundry.com/i-7798480-maytag-23002485-washer-sealing.html
http://www.pwslaundry.com/i-7798481-maytag-23002486-washer-bolt.html
http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7798482-maytag-23002487-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html

	Maytag MFS80PNFVS 04 - TUB

